
 

 

Answer on Question #72204, Math / Calculus 

Let 𝑂 be the origin of coordinate plane, 𝐴, 𝐵 lie on the upper half plane satisfying 

𝑂𝐴 = 𝑂𝐵. If line 𝑂𝐴 has slope 1, line 𝑂𝐵 has slope −7, what is the slope of 

line  𝐴𝐵? 

Solution 

Let 𝐴(𝑥𝐴, 𝑦𝐴), 𝐵(𝑥𝐵, 𝑦𝐵) 

We have that 

𝑦𝐴 > 0, 𝑦𝐵 > 0; 𝑂𝐴 = 𝑂𝐵; 𝑦𝐴 = 𝑥𝐴, 𝑦𝐵 = −7𝑥𝐵 

Hence 

𝑥𝐴
2 + 𝑦𝐴

2 = 𝑥𝐵
2 + 𝑦𝐵

2 

𝑥𝐴
2 + 𝑥𝐴

2 = 𝑥𝐵
2 + (−7𝑥𝐵)2 

𝑥𝐴
2 = 25𝑥𝐵

2 

If 𝑦𝐴 > 0, 𝑦𝐵 > 0, then 𝑥𝐴 > 0, 𝑥𝐵 < 0 

𝑥𝐴 = −5𝑥𝐵, 𝑦𝐴 = 𝑥𝐴 = −5𝑥𝐵 , 𝑦𝐵 = −7𝑥𝐵 

 

𝑠𝑙𝑜𝑝𝑒𝐴𝐵 =
𝑦𝐵 − 𝑦𝐴

𝑥𝐵 − 𝑥𝐴
=

−7𝑥𝐵 − (−5𝑥𝐵)

𝑥𝐵 − (−5𝑥𝐵)
=

−2

6
= −

1
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